

Método de Sustitución

Nombre:

a) $\begin{cases} x + y = 4 \\ x + 2y = 6 \end{cases}$ Solución (,)

b) $\begin{cases} x - 2y = 4 \\ 2x - y = 1 \end{cases}$ Solución (,)

c) $\begin{cases} 3x + 5y = 7 \\ 2x - y = -4 \end{cases}$ Solución (,)

d) $\begin{cases} x + 3y = 6 \\ 5x - 2y = 13 \end{cases}$ Solución (,)

e) $\begin{cases} x - 5y = 8 \\ -7x + 8y = 25 \end{cases}$ Solución (,)

f) $\begin{cases} 7x - 15y = 1 \\ -x - 6y = 8 \end{cases}$ Solución (,)

g) $\begin{cases} x - y = 2 \\ 2x + y = 19 \end{cases}$ Solución (,)

h) $\begin{cases} 2x + 2y = 14 \\ 5x - 2y = -7 \end{cases}$ Solución (,)

